

LKK Auto Consultants Pte Ltd

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 4

ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. SMW 4040H

| Qty | Description of Parts | Condition | Estimate By Workshop (\$)) | Our Adjusted (\$) |
|-----|--|-------------------------|-------------------------------|-------------------|
| | REPLACEMENT OF PARTS | | | |
| 2 | HEADLAMP (LED) R/L | O/S CRACKED | 3,550.00 | 1,775.00 |
| 1 | FRT GRILLE TRIM ASSY | CRACKED | 438.10 | 438.10 |
| 1 | FRT GRILLE EMBLEM | NECESSARY | 37.00 | 37.00 |
| 1 | FRT GRILLE BASE | CRACKED | 553.80 | 553.80 |
| 1 | FRT BUMPER | DENTED | 1,445.00 | 762.00 |
| 1 | FRT BUMPER GRILLE | TORN | 127.50 | 127.50 |
| 1 | FRT BUMPER FOG LAMP RH | NOT NECESSARY | 231.60 | - |
| 1 | FRT BUMPER FOG LAMP GARNISH RH | TWISTED | 97.40 | 97.40 |
| 8 | FRT BUMPER CLIP @\$3.60 | NECESSARY | 28.80 | 28.80 |
| 2 | FRT BUMPER SUPPORT R/L @\$39.30 | CRACKED | 78.60 | 78.60 |
| 2 | FRT BUMPER RETAINER R/L @\$58.00 | NECESSARY | 116.00 | 116.00 |
| 1 | FRT BUMPER REINFORCEMENT | DENTED | 548.20 | 548.20 |
| 2 | FRT BUMPER AIR GUIDE R/L @\$82.40 | TORN | 164.80 | 164.80 |
| 1 | FRT FENDER RH | TO REPAIR SEE LABOUR | 431.70 | - |
| 2 | FRT FENDER ARCH PROTECTOR R/L @\$220.60 | O/S TORN | 441.20 | 220.60 |
| 1 | FRT SUPPORT PANEL ASSY | TO REPAIR SEE LABOUR | 682.00 | - |
| 1 | FRT SUPPORT LOCK BRACKET | CRACKED | 32.10 | 32.10 |
| 1 | FRT SUPPORT PANEL TOP GARNISH | TORN | 172.30 | 172.30 |
| 9 | FRT SUPPORT PANEL TOP GARNISH CLIP @\$3.20 | NECESSARY | 28.80 | 28.80 |
| 1 | A/C CONDENSER | PUNCTURE | 1,328.20 | 1,328.20 |
| 1 | RADIATOR ASSY | SERVICEABLE | 1,584.30 | - |
| 1 | TAILGATE | DENTED | 1,084.00 | 1,084.00 |
| 1 | TAILGATE WINDSCREEN MOULDING | NECESSARY | 97.00 | 97.00 |
| 1 | TAILGATE NO. PLATE GARNISH | CRACKED | 241.60 | 241.60 |
| 2 | TAILGATE NO. PLATE LAMP R/L @\$58.30 | NOT NECESSARY | 116.60 | - |
| 1 | TAILGATE EMBLEM (LOGO) | NECESSARY | 62.00 | 62.00 |
| 1 | TAILGATE EMBLEM (VEZEL) | NECESSARY | 78.00 | 78.00 |
| 1 | TAILGATE REFLECTOR RH | CRACKED | 481.00 | 481.00 |
| 1 | TAILGATE INNER TRIM | CRACKED | 298.00 | 298.00 |

Report Ref No. CS3/SMO21011127/Uvf3e2-1



LKK Auto Consultants Pte Ltd

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 4

| ty | Description of Parts | Condition | Estimate By Workshop (\$)) | Our Adjusted (\$) |
|----|------------------------------------|-------------------------|-------------------------------|----------------------|
| 10 | TAILGATE INNER TRIM CLIP @\$3.00 | NECESSARY | 30.00 | 30.00 |
| 1 | TAILGATE LOCK | DAMAGED | 273.00 | 273.00 |
| 1 | TAILGATE WEATHERSTRIP | TORN | 196.00 | 196.00 |
| 1 | TAILLAMP RH | NOT CHANGED | 687.00 | - |
| 1 | RR BUMPER | DENTED | 786.00 | 786.00 |
| 1 | RR BUMPER SIDE COVER RH | DEFORMED | 264.00 | 264.00 |
| 1 | RR BUMPER REFLECTOR RH | NOT NECESSARY | 91.00 | - |
| 8 | RR BUMPER CLIP @\$3.00 | NECESSARY | 24.00 | 24.00 |
| 2 | RR BUMPER RETAINER R/L @\$68.00 | NECESSARY | 136.00 | 136.00 |
| 1 | RR END PANEL | TO REPAIR SEE LABOUR | 767.00 | - |
| 1 | RR END PANEL GARNISH | NOT CHANGED | 127.00 | - |
| 6 | RR END PANEL GARNISH CLIP @\$2.00 | NOT NECESSARY | 12.00 | - |
| 1 | RR EXHAUST SILENCER | TO REPAIR SEE LABOUR | 787.00 | - |
| 1 | BONNET (NPA) | TO REPAIR SEE LABOUR | - | - |
| 2 | FRT FENDER R/L (NPA) | TO REPAIR SEE LABOUR | - | - |
| 1 | FRT CHASSIS MEMBER RH (NPA) | TO REPAIR SEE LABOUR | - | - |
| 2 | RR FENDER R/L (NPA) | NOT NECESSARY | - | - |
| 1 | RR FLOOR PANEL (NPA) | NOT NECESSARY | - | - |
| 1 | RR EXHAUST SILENCER (NPA) | TO REPAIR SEE LABOUR | - | - |
| 1 | RR CHASSIS MEMER RH (NPA) | NOT NECESSARY | - | - |
| | LESS 20% DISCOUNT | | -3,751.12 | -2,111.96 |
| | | | 15,004.48 | 8,447.84 |
| | SPECIAL NETT ITEMS | | | |
| 1 | SET FRT NO. PLATE (W/BRACKET) (SN) | CRACKED | 50.00 | 40.00 |
| 1 | BOT RADIATOR COOLANT (SN) | NOT NECESSARY | 60.00 | - |
| 1 | RR WINDSCREEN SEALANT (SN) | NECESSARY | 50.00 | 40.00 |
| 1 | RR END PANEL SEALANT (SN) | NOT NECESSARY | 50.00 | - |
| | | | 210.00 | 80.00 |

Report Ref No. CS3/SMO21011127/Uvf3e2-1



LKK Auto Consultants Pte Ltd

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 4

| Qty | Description of Parts | Condition | Estimate By Workshop (\$)) | Our Adjusted (\$) |
|-----|--|---------------|-------------------------------|----------------------|
| | <u>LABOUR</u> | | | |
| | TO STRAIGHTEN, REPAIR, REALIGN ON FRONT AFFECTED AREA AND REPLACE DAMAGED PARTS. INCLUSIVE OF THE REPAIR OF FRT FENDER RH, FRT SUPPORT PANEL ASSY, BONNET, FRT FENDER R/L AND FRT CHASSIS MEMBER RH. | | 1,200.00 | 500.00 |
| | TO SPRAY PAINTING, BLENDING ON FRONT AFFECTED AND ADJACENT AREA. | | 1,200.00 | 700.00 |
| | TO REMOVE AND REINSTALL FRONT ELECTRICAL WIRING SYSTEM FOR NECESSARY REPAIRS. TO CHECK ELECTRICAL SYSTEM, REPAIR WIRE HARNESS AND FOCUS HEADLAMP. | | 60.00 | 20.00 |
| | TO REMOVE, REPLACE AND REINSTALL A/C CONDENER & A/C PIPINGS. (INCLUDE VACUUM & RECHARGE A/C GAS) | | 120.00 | 100.00 |
| | TO REMOVE AND REINSTALL RADIATOR & COOLING SYSTEM FOR NECESSARY REPAIRS. (INCLUDE PRESSURE TEST COOLING SYSTEM). | NOT NECESSARY | 100.00 | - |
| | TO STRAIGHTEN, REPAIR, REALIGN ON REAR AFFECTED AREA AND REPLACE DAMAGED PARTS. INCLUSIVE OF THE REPAIR OF RR END PANEL, RR EXHAUST SILENCER AND RR EXHAUST SILENCER. | | 1,200.00 | 550.00 |
| | TO SPRAY PAINTING, BLENDING ON REAR AFFECTED AND ADJACENT AREA. | | 1,200.00 | 600.00 |
| | TO REMOVE AND REINSTALL REAR INTERIOR TRIMS, GARNISHES, ETC. FOR NECESSARY REPAIRS. | | 100.00 | 80.00 |
| | TO REMOVE AND REINSTALL REAR ELECTRICAL WIRING SYSTEM FOR NECESSARY REPAIRS. TO CHECK REAR ELECTRICAL WIRING SYSTEM. | | 60.00 | 20.00 |
| | TO TRANSFER TAILGATE COMPONENT PARTS TO NEW TAILGATE. (INCLUDE TRANSFER TAILGATE SPOILER AND SUPPLY SEALANT) | | 120.00 | 60.00 |
| | TO STRAIGHTEN, REPAIR AND REALIGN REAR EXHAUST SILENCER. | | 60.00 | 60.00 |
| | TO TRANSFER REAR WINDSCREEN TO NEW TAILGATE. | | 120.00 | 120.00 |
| | | | 5,540.00 | 2,810.00 |
| | GRAND TOTAL | | 20,754.48 | 11,337.84 |



Page No.:4 of 4

| RECOMMENDED COST OF LUMP SUM REPAIRS | | 9,100.00 |
|--------------------------------------|--|----------|
| (TO ITS PRE-ACCIDENT CONDITION) | | · |

Report Ref No. CS3/SMO21011127/Uvf3e2-1

CHUA KANG SENG

Licensed Appraiser